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COLLEGE OF ELECTRONICS TECHNOLOGY - TRIPOLI
Final Exam of Electromagnetic I CM 321
Fall- 2018

Time 2:00 Hrs

I. If z=3-75, Find the value of In (2).
%

3
II. Express the following complex number in rectangular form J.’S e’

(5 points)

(10 points)

Q2: Givenvectors A =a, +2a_ —3a, and B =2a, -—4({V :
(5 points)

I Magnitude of A, and the unit vector of A.
L. B (5 points)
1. (Axa, ).a. (5 points)

Q3:  Find L, inthe Fig below if E,=2a, -3a,+3a. V/im if

& =2¢&,, & =8¢, and theboundary is charge free.

(15 points)

Q4: Suppose a scalar function in the cylindrical domain is given as :
p=p’sinp+2pz
Find the Gradient of P, Show your work, is the Gradient a scalar or a vector?

Now find the curl of the above gradient, what do you observe?

-y !; O F hy) _ g(_li:l_lg_!] =y [“:ﬂ;{'_’lhl) D¢ I.':h‘)‘l

curl ¥ — - .
haley Ty Oy tendsy ey e,

., l]?‘ Fahs) DRy

Yoyt y Cray Ty

CUFhh O(Fshh O Fyhyby)
(Frehahy +'( ity € JIZJ]

: 1
tiv F o ———no | -t 5 x
Fighr gl y Cirg Cuy fuy

1 f 1 a5 1 éf
grad f=a, — " 4a,— —_———
4 Y4y u *a hy Cuy HiRy hy Ouy

1
In the Cartesian hi=h2=h3=]

i spherical coordinates oy = 1, ky = r, and hy = rasin 0,

hy s f by =p hy = | Circular cylindrical

Dr.Tarig Algadey

(7 points)
(7 points)

Good Luck
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